



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Computer Science and Engineering (Artificial Intelligence and Machine Learning)) - F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration
Date: 25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
1038477	KUNJIR MANTHAN KONDAJI BEBI KUNJIR 2023016400934154 (150)Badlapur-(889)	58651 34+	10+	44		FEC101 --	20+	20		58652 34+	7+	41		FEL101 --	21+	21		58655 25+	7+	32		FEL102 --	19+	19	18.00	101.50	Successful
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	5.64	--
		58653 32	8+	40		FEL103 --	19+	36		58654 34+	10+	44		FEL104 --	19+	37		FEL105 --	42+	42							
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00						
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

1038490	/ KHAN SHEHZEEN SAJID SUFIYA 2023016402066722 (98)Bhoisar-(802)	58651 32+	12+	44		FEC101 --	10+	10		58652 24+	11+	35		FEL101 --	17+	17		58655 27+	11+	38		FEL102 --	18+	18	--	--	Unsuccessful
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	B	8.00	4.00	--	--
		58653 22F	8+	30		FEL103 --	10+	28		58654 32E	14+	46		FEL104 --	18+	32		FEL105 --	22+	22							
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	P	4.00	4.00						
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																	

1038491	/ KHAN SHIFA JALALUDDIN SHAHIDA 2023016402066792 (98)Bhoisar-(802)	58651 35E	10+	45		FEC101 --	18+	18		58652 24E	9+	33		FEL101 --	16+	16		58655 25E	6+	31		FEL102 --	16+	16	--	--	Unsuccessful
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	--	--
		58653 32E	9+	41		FEL103 --	21+	40		58654 18F	8+	26		FEL104 --	19+	34		FEL105 --	32+	32							
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00						
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG/aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Science and Engineering (Artificial Intelligence and Machine Learning))- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration
Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT		
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G	SGPI GRADE
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11										
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G			
1038495	PATIL NIHAR PRATAP PURVA 2023016402067307 (98)Bhoisar-(802)	58651 27F 3.00 F	9+	36	0.00	FEL101 1.00 C	16+	16	7.00	58652 24+ 2.00 P	6+	30	8.00	FEL101 0.50 O	21+	21	5.00	58655 24+ 2.00 P	6+	30	8.00	FEL102 0.50 A	19+	19	4.50	---	---	Unsuccessful
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																		
1038507	YADAV VIVEK SUNIL USHA DEVI 2022016402054325 (98)Bhoisar-(802)	58651 32+ 3.00 P	8+	40	12.00	FEC101 1.00 A	19+	19	9.00	58652 24+ 2.00 P	6+	30	8.00	FEL101 0.50 O	21+	21	5.00	58655 25+ 2.00 P	6+	31	8.00	FEL102 0.50 O	20+	20	5.00	---	---	Unsuccessful
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																		
1038509	GAWADE YASH CHARUDATT RESHMA 2022016402238425 (17)Kankavli-(533)	58651 24F 3.00 F	13+	37	0.00	FEC101 1.00 A	19+	19	9.00	58652 19F 2.00 F	9+	28	0.00	FEL101 0.50 A	19+	19	4.50	58655 24+ 2.00 P	8+	32	8.00	FEL102 0.50 A	19+	19	4.50	---	---	Unsuccessful
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																		

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Computer Science and Engineering (Artificial Intelligence and Machine Learning)) - F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration
Date: 25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
1038514	MAHAJAN LOKESH SUNIL SANDHYA 2023016402053621 (36)Karjat-(734)	58651 33+	8+	41		FEC101 22+	22			58652 27E	6+	33		FEL101 20+	20		58655 24+	7+	31		FEL102 21+	21					Unsuccessful -- --
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																	
1038522	KHOSE DINESH SANTOSH MEERA 2022016402389007 (36)Karjat-(807)	58651 32+	9+	41		FEC101 19+	19			58652 26+	12+	38		FEL101 19+	19		58655 24+	13+	37		FEL102 20+	20					Unsuccessful -- --
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																	
1038525	MORE JEETESH ANIL RUPALI 2022016402389054 (36)Karjat-(807)	58651 32+	11+	43		FEC101 21+	21			58652 30	11+	41		FEL101 19+	19		58655 24+	13+	37		FEL102 19+	19					Successful 18.00 106.00
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Science and Engineering (Artificial Intelligence and Machine Learning))- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration
Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G	SGPI GRADE	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1038528	RAI SACHIN BRAJMOHAN SHEELADEVI	58651	32+	10+	42	FEC101	--	18+	18	58652	25+	12+	37	FEL101	--	17+	17	58655	24+	15+	39	FEL102	--	20+	20	Successful		18.00	106.50
	2022016402390517	3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	5.92 --			
	(36)Karjat-(807)	58653	32	11+	43	FEL103	--	20+	41	58654	35+	15+	50	FEL104	--	19+	35	FEL105	--	35+	35								
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00								
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

1038537	/ SURVE KIRTI PRAKASH ANKITA	58651	32+	8+	40	FEC101	--	17+	17	58652	25	7+	32	FEL101	--	17+	17	58655	24+	8+	32	FEL102	--	21+	21	Successful		18.00	94.50
	2023016401237373	3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.25 --			
	(40)Khed-(742)	58653	40+	9+	49	FEL103	--	23+	35	58654	33+	8+	41	FEL104	--	19+	29	FEL105	--	45+	45								
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00								
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

1038544	ROHIT KARTIKSWMAI JAGDALE VARSHA	58651	26F	8+	34	FEC101	--	12+	12	58652	24+	6+	30	FEL101	--	18+	18	58655	25+	8+	33	FEL102	--	17+	17	Unsuccessful		--	--
	2023016402405346	3.00	F	0.00	0.00	1.00	E	5.00	5.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
	(152)kumbhivali-(990)	58653	33+	12+	45	FEL103	--	18+	34	58654	34+	9+	43	FEL104	--	16+	34	FEL105	--	30+	30								
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00								
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Science and Engineering (Artificial Intelligence and Machine Learning))- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration
Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G	SGPI GRADE	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1038550	/ PRERNA VINOD POL PRITI	58651 24F	10+	34		FEC101 15+	15	15		58652 8F	6+	14		FEL101 18+	18		58655 24+	14+	38		FEL102 21+	21					Unsuccessful	-- --	
	2022016402405612	3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00			-- --	
	(152)kumbhivali-(990)	58653 27F	8+	35		FEL103 20+	39	19+		58654 32+	8+	40		FEL104 21+	38		FEL105 40+	40											
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
Remark: REVALUATION																													
1038551	/ SATHAWANE ISHITA JITENDRA SHITAL	58651 32+	9+	41		FEC101 20+	20	25+		58652 25+	10+	35		FEL101 21+	21		58655 24+	12+	36		FEL102 20+	20					Unsuccessful	-- --	
	2023016402400964	3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00			-- --	
	(152)kumbhivali-(990)	58653 32+	8+	40		FEL103 21+	41	21F		58654 12+	33		FEL104 23+	36		FEL105 42+	42												
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
Remark: REVALUATION																													
1038554	ANSARI YAHYA AFTABALAM SHAHEENA PARVEEN	58651 25F	8+	33		FEC101 20+	20	24+		58652 11+	35		FEL101 19+	19		58655 24+	6+	30		FEL102 21+	21						Unsuccessful	-- --	
	2023016402114791	3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00			-- --	
	(1)Mumbai-(10)	58653 33E	12+	45		FEL103 18+	35	33E		58654 8+	41		FEL104 19+	36		FEL105 34+	34												
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
Remark: REVALUATION																													

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, -:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Science and Engineering (Artificial Intelligence and Machine Learning))- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration
Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

Table with columns: SEAT NO., NAME OF THE CANDIDATE, PAPER 1-6, PAPER 7-11, RESULT. Row 1: 1038557 KHAN MOHD SHOHIB GUDDU SHABANAM, (1)Mumbai-(10), Successful, 18.00 102.00.

Remark: REVALUATION

Table with columns: SEAT NO., NAME OF THE CANDIDATE, PAPER 1-6, PAPER 7-11, RESULT. Row 2: 1038558 PHOOLRAWALA MOHD MOIN TANVEER MEHZABEEN, (1)Mumbai-(10), Unsuccessful, -- --.

Remark: REVALUATION

Table with columns: SEAT NO., NAME OF THE CANDIDATE, PAPER 1-6, PAPER 7-11, RESULT. Row 3: 1038565 / MUDHOLKAR SHRUTI MAHENDRA VARSHA, (76)Navi Mumbai-(403), Successful, 18.00 94.00.

Remark: REVALUATION

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Science and Engineering (Artificial Intelligence and Machine Learning))- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 | 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 | FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

Table with columns: SEAT NO., NAME OF THE CANDIDATE, PAPER 1-6, PAPER 7-11, RESULT. Includes candidate 1038567 INGLE SANKALP RAHUL NALANDA.

Remark: REVALUATION

Table with columns: SEAT NO., NAME OF THE CANDIDATE, PAPER 1-6, PAPER 7-11, RESULT. Includes candidate 1038572 KEDAR ANKUSH PATIL SUVARNA.

Remark: REVALUATION

Table with columns: SEAT NO., NAME OF THE CANDIDATE, PAPER 1-6, PAPER 7-11, RESULT. Includes candidate 1038574 SHINDE SHIVPRASAD RAVINDRA MANISHA.

Remark: REVALUATION

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL; NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Science and Engineering (Artificial Intelligence and Machine Learning))- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration
Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT		
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G	SGPI GRADE
	CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11										
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G	SGPI GRADE
1038575	SUMEDH ANIL SURYAWANSHI ALKA 2023016401237744 (12) Panvel- (692)	58651 32+	8+	40		FEC101 11+	11			58652 30E	6+	36		FEL101 16+	16		58655 24+	6+	30		FEL102 16+	16						Unsuccessful -- --
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50			-- --
		58653 26F	10+	36		FEL103 14+	25			58654 22F	8+	30		FEL104 15+	30		FEL105 35+	35										
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00							
		Total Credit --				FINAL CGPI --				FINAL GRADE --																		

Remark: REVALUATION

1038580	CHAVAN PRATHAMESH PRAMOD SANGITA 2023016401035395 (13) Ratnagiri- (525)	58651 32E	8+	40		FEC101 23+	23			58652 24+	6+	30		FEL101 21+	21		58655 24+	6+	30		FEL102 22+	22						Unsuccessful -- --
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00			-- --
		58653 33E	10+	43		FEL103 22+	39			58654 20F	11+	31		FEL104 21+	36		FEL105 45+	45										
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00							
		Total Credit --				FINAL CGPI --				FINAL GRADE --																		

Remark: REVALUATION

1038583	KAZI NAZIF AQUEEL LUBNA 2022016402135991 (13) Ratnagiri- (525)	58651 47	8+	55		FEC101 23+	23			58652 24	9+	33		FEL101 22+	22		58655 38+	11+	49		FEL102 22+	22						Successful 18.00 120.00
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00			6.67 --
		58653 36+	8+	44		FEL103 23+	38			58654 58+	11+	69		FEL104 19+	35		FEL105 43+	43										
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	C	7.00	21.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00							
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																		

Remark: REVALUATION

/ - FEMALE, # - 0.229A, @ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Science and Engineering (Artificial Intelligence and Machine Learning))- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration
Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT		
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	C*G
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11										
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G			
1038594	PATTEBAHADUR PRASHIK BHAGWAT REKHA 2022016402321304 (30)Shahapur-(776)	58651 32+	8+	40	40	FEC101 --	22+	22	22	58652 24+	6+	30	30	FEL101 --	15+	15	15	15	58655 24+	6+	30	30	FEL102 --	16+	16	16	16	Unsuccessful -- --
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	3.50	-- --
		58653 32E	8+	40	40	FEL103 --	21+	39	39	58654 7F	8+	15	15	FEL104 --	19+	38	38	38	FEL105 --	41+	41	41	41	41	41	41	41	
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	9.00	1.00	O	10.00	10.00	10.00	10.00	10.00	10.00	10.00	
Remark:		Total Credit --				FINAL CGPI --				FINAL GRADE --																		
1038602	SURYAWANSHI ADITYA RAVINDRA CHHAYA 2023016400884222 (5)Thane-(442)	58651 21F	8+	29	29	FEC101 --	20+	20	20	58652 24+	7+	31	31	FEL101 --	21+	21	21	21	58655 24+	6+	30	30	FEL102 --	15+	15	15	15	Unsuccessful -- --
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	3.50	-- --
		58653 32+	10+	42	42	FEL103 --	19+	35	35	58654 33+	13+	46	46	FEL104 --	21+	35	35	35	FEL105 --	41+	41	41	41	41	41	41	41	
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	8.00	1.00	O	10.00	10.00	10.00	10.00	10.00	10.00	10.00	
Remark:		Total Credit --				FINAL CGPI --				FINAL GRADE --																		
1038603	SURYAWANSHI TANMAY SUDHIR SWATI 2023016400884214 (5)Thane-(442)	58651 25F	8+	33	33	FEC101 --	20+	20	20	58652 24+	7+	31	31	FEL101 --	21+	21	21	21	58655 24+	6+	30	30	FEL102 --	18+	18	18	18	Unsuccessful -- --
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	4.00	-- --
		58653 33+	10+	43	43	FEL103 --	18+	32	32	58654 32+	13+	45	45	FEL104 --	21+	36	36	36	FEL105 --	40+	40	40	40	40	40	40	40	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	8.00	1.00	O	10.00	10.00	10.00	10.00	10.00	10.00	10.00	
Remark:		Total Credit --				FINAL CGPI --				FINAL GRADE --																		

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, -:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Science and Engineering (Artificial Intelligence and Machine Learning))- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration
Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
1038606	KAVISH RAKESHKUMAR JAIN KOMAL 2023016402088822 (5)Thane-(996)	58651 33+	8+	41		FEC101 17+	17		58652 26	6+	32		FEL101 19+	19		58655 24+	8+	32		FEL102 19+	19				Successful 18.00	100.00	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	5.56	--
		58653 32	8+	40		FEL103 21+	40		58654 36+	11+	47		FEL104 19+	38		FEL105 40+	40										
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00						
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
1038607	AXANSH MAHATMA SNEHLATA 2023016402087254 (5)Thane-(996)	58651 40+	8+	48		FEC101 15+	15		58652 24+	6+	30		FEL101 19+	19		58655 25+	6+	31		FEL102 18+	18				Unsuccessful --	--	
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	--	--
		58653 25F	8+	33		FEL103 19+	31		58654 32+	11+	43		FEL104 15+	29		FEL105 41+	41										
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00						
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																	
1038609	NIKAM NEHAL MANOJ BHAVNA 2023016402080397 (5)Thane-(996)	58651 21F	8+	29		FEC101 15+	15		58652 30+	9+	39		FEL101 15+	15		58655 28+	8+	36		FEL102 19+	19				Unsuccessful --	--	
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	A	9.00	4.50	--	--
		58653 32+	10+	42		FEL103 19+	37		58654 35+	13+	48		FEL104 15+	31		FEL105 40+	40										
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00						
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, -:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Science and Engineering (Artificial Intelligence and Machine Learning))- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration
Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT		
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G	SGPI GRADE
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11										
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G			
1038611	PATIL SHLOK RAJENDRA RUPALI	58651	37+	8+	45	FEC101	16+	16	58652	31+	6+	37	FEL101	18+	18	58655	26+	7+	33	FEL102	20+	20					Unsuccessful	-- --
	2023016402100713	3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00		-- --	
	(5)Thane-(996)	58653	16F	8+	24	FEL103	19+	38	58654	48+	9+	57	FEL104	16+	33	FEL105	37+	37										
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00							
		Total Credit --				FINAL CGPI --				FINAL GRADE --																		

Remark: REVALUATION

1038616	YADAV ASHISH MAHENDRA CHINTA	58651	32+	15+	47	FEC101	18+	18	58652	24+	8+	32	FEL101	16+	16	58655	17F	6+	23	FEL102	15+	15					Unsuccessful	-- --
	2022016402440612	3.00	E	5.00	15.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	C	7.00	3.50		-- --	
	(5)Thane-(996)	58653	7F	10+	17	FEL103	17+	30	58654	33+	12+	45	FEL104	14+	30	FEL105	20+	20										
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	P	4.00	4.00							
		Total Credit --				FINAL CGPI --				FINAL GRADE --																		

Remark: REVALUATION

1038621	GAVHANE GANESH RAMKISHAN PUSHPA	58651	32	8+	40	FEC101	23+	23	58652	24+	8+	32	FEL101	22+	22	58655	35+	10+	45	FEL102	20+	20					Successful	18.00 104.00
	2023016401229702	3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	5.78	--	
	(22)Vasai-(823)	58653	32+	12+	44	FEL103	18+	37	58654	32+	9+	41	FEL104	18+	37	FEL105	41+	41										
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00							
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																		

Remark: REVALUATION

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Computer Science and Engineering (Artificial Intelligence and Machine Learning)) - F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration
Date: 25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G	SGPI GRADE	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1038623	KAMBLE VEDANT DINESH GEETA 2023016401227266 (22)Vasai-(823)	58651 32E 11+ 43 3.00 P 4.00 12.00	FEC101 10+ 10 1.00 P 4.00 4.00	58652 24+ 10+ 34 2.00 E 5.00 10.00	FEL101 10+ 10 0.50 P 4.00 2.00	58655 12F 7+ 19 2.00 F 0.00 0.00	FEL102 12+ 12 0.50 E 5.00 2.50	Unsuccessful -- -- -- --																					
		58653 32+ 13+ 45 3.00 E 5.00 15.00	FEL103 14+ 31 17+ 1.00 C 7.00 7.00	58654 10F 8+ 18 3.00 F 0.00 0.00	FEL104 13+ 26 13+ 1.00 D 6.00 6.00	FEL105 38+ 38 1.00 A 9.00 9.00																							
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
Remark: REVALUATION																													
1038635	/ GAYATRI VIJAY DONGARE JYOTI 2022016402183755 (150)Badlapur-(889)	58651 33+ 9+ 42 3.00 P 4.00 12.00	FEC101 11+ 11 1.00 P 4.00 4.00	58652 24+ 6+ 30 2.00 P 4.00 8.00	FEL101 10+ 10 0.50 P 4.00 2.00	58655 24+ 6+ 30 2.00 P 4.00 8.00	FEL102 16+ 16 0.50 C 7.00 3.50	Unsuccessful -- -- -- --																					
		58653 32E 13+ 45 3.00 E 5.00 15.00	FEL103 18+ 38 20+ 1.00 A 9.00 9.00	58654 13F 8+ 21 3.00 F 0.00 0.00	FEL104 19+ 38 19+ 1.00 A 9.00 9.00	FEL105 40+ 40 1.00 O 10.00 10.00																							
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
Remark: REVALUATION																													

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG/aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

